

Simplify.

9. (8pts) $\frac{x-3}{x^2-4x-5} - \frac{2x+3}{x^2-25} = \frac{(x-3)(x+5) - (2x+3)(x+1)}{(x-5)(x+1)(x+5)}$

prod=18	±18,1	9,2	6,3
sum=3	no	no	no

 doesn't factor ↷

$$= \frac{x^2+2x-15 - (2x^2+5x+3)}{(x-5)(x+1)(x+5)} = \frac{-x^2-3x-18}{(x-5)(x+1)(x+5)} = -\frac{x^2+3x+18}{(x-5)(x+1)(x+5)}$$

10. (7pts) $\frac{1 - \frac{2}{x+3}}{1 + \frac{2}{x-3}} = \frac{1 - \frac{2}{x+3}}{1 + \frac{2}{x-3}} \cdot \frac{(x+3)(x-3)}{(x+3)(x-3)} = \frac{(x-3)(x+3) - 2(x-3)}{(x+3)(x-3) + 2(x+3)}$

$$= \frac{(x-3)(x+3-2)}{(x+3)(x-3+2)} = \frac{(x-3)(x+1)}{(x+3)(x-1)}$$

11. (7pts) Simplify and write the answer so all exponents are positive:

$$\frac{(8x^3y^{\frac{10}{3}})^{\frac{3}{4}}}{(100x^4y^{-\frac{4}{3}})^{\frac{1}{2}}} = \frac{(8^{\frac{1}{4}})^4 (x^3)^{\frac{4}{3}} (y^{\frac{10}{3}})^{\frac{4}{3}}}{100^{\frac{1}{2}} (x^4)^{\frac{1}{2}} (y^{-\frac{4}{3}})^{\frac{1}{2}}} = \frac{2^4 x^4 y^{\frac{10}{3}}}{10 x^2 y^{-\frac{2}{3}}} = \frac{\cancel{16}^8 x^2 y^{\frac{10}{3} + \frac{2}{3}}}{\cancel{10}_5} = \frac{8x^2y^4}{5}$$

12. (5pts) Rationalize the denominator.

$$\frac{\sqrt{3} + \sqrt{5}}{\sqrt{5} - 2\sqrt{3}} \cdot \frac{\sqrt{5} + 2\sqrt{3}}{\sqrt{5} + 2\sqrt{3}} = \frac{\sqrt{15} + 2\sqrt{3}^2 + \sqrt{5}^2 + 2\sqrt{15}}{\sqrt{5}^2 - (2\sqrt{3})^2} = \frac{3\sqrt{15} + 6 + 5}{5 - 12} = -\frac{11 + 3\sqrt{15}}{7}$$

-7